Small Coaster or decoration to go on a card

(C) 2012 Jennifer Williams

This motif measures approximately 2 'z inches (6 cm) in
diameter when worked in size 20 crochet/tatting thread

Requirements
Size 20 thread, a tatting shuttle, crochet hook and a
small pair of scissors

Abbreviations
R =ring, p = picot, cl = close ring,
RW = reverse work (turn up side down), CH = chain

Row 1
Wind about a meter of thread onto your shuttle and
Do not cut from the ball

R,A 8,p,8,cl(Figl), RW
CH 3,p,3,(Fig2), RW
*R.B 8, p, 8 (Fig 3), RW
CH 3,p,3 (Fig4) RW**

Repeat from * to ** 3 times (4 rings and 4 chains) Fig 5

Cut and tie to the base of ring ‘A’ then secure the ends.

Row 2
Wind about 3 metres of thread on your shuttle. Do not cut from the ball

RF 8, + to the picot on one of the rings on Row 1, 8, ¢l (see Fig 6), RW
CH 2, (p,2) 7 times (see Fig 7) pull up the chain to curve as in the diagram and photograph
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RG 8, + to the same picot on row 1 as for ring F, (see fig 8) 8, cl, RW
CH 2, (p, 2) 5 times (see Fig 9), pull up the stitches so that the chain curves as in the diagram and
Photograph, RW
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Fig 9

Omit the RW after the final chain then cut and tie to the base of the first ring on this row.
Secure the ends.




